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Blood Relation Questions Quiz for SBI Clerk Mains, IBPS Clerk 
Mains, IBPS PO Pre, SBI PO Pre, RRB Scale I Pre and IBPS SO Pre 
Exams. 

Blood Relation Quiz 17 

Directions : Read the following information carefully and answer the questions. 
 
Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of 
Riku. Vicky has two daughters and one son. Unni has only one son and one daughter. Micky is the only sibling 
of Wiku. Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter 
of Akku, who is married to Wiku. Unni and Vicky are sons in law of Wiku. [Set of 3 Questions] 

1.  How is Wiku related to Donu? 

A. Father  B. Mother  C. Grandfather D. Can't be determined      E. None of these 
 

2.  Four of the following are alike in some way. Which of the following is the odd one 

out? 

A. Donu  B. Riku   C. Rinku  D. Xoxo           E. Sanu 
 

3.   How is Xoxo related to Sanu? 

A. Daughter  B. Mother  C. Aunt   D. Can't be determined        E. None of these 
  
Directions : Study the following information carefully and answer the questions  

L # Q means L is father of Q 
L $ Q means L is son-in-law of Q 
L @Q means L is daughter of Q 
L * Q means L is niece of Q 
L ^Q means L is brother of Q 
L! Q means L is sister of Q [Set of 2 Questions] 

4.  If S is Aunt of C, and then which of the following is true? 

A. S!Z@X#C$B@N B. S!Z^X#C$B@N C. S!Z^X#B$C@N D. S!Z^X#N$B@C           E. None of these 
 

5.  If R$T@Y^I#P@S, then how S is related to T? 

A. Aunt  B. Paternal Aunt C. Maternal Aunt D. Can’t be determined        E. None of these 
 

6.  If F#W$H*J^E@L, then how many children does L has? 

A. Two   B. Three  C. One   D. One or Two            E. Can't be determined 
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Directions : Study the following information carefully and answer the questions  
 
Virat, Kohlli and Prithvi are related to each other in some or the other way. 
I. Among the three, one is Virat’s spouse, another is Kohlli’s sibling and the third is Prithvi’s sister’s in law. 
II. Virat’s spouse and Kohlli’s sibling are of the same genders. 
Note: A marriage between the same genders is not a case here. [Set of 3 questions] 

7.  Who is the married man among the three? 

A. Virat  B. Kohlli  C. Prithvi   D. Either Virat or Prithvi  
E. Can't be determined 

 
8.  Who is the sister in law among the three? 

A. Kohlli  B. Virat   C. None of these  D. Either Kohlli or Virat  
E. Can't be determined 
 

9.  Who are the males in the group? 

A. Only Virat  B. Only Kohlli  C. Both Virat and Kohlli D. Only Prithvi   
E. None of these 
 

 
 
Correct Answers: 
 

1 2 3 4 5 6 7 8 9 

D C B B B E B E E 
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Common Explanations : (Q. 1 to 3)  

 
 
References: 
Micky is brother in law of Akku, who has two daughters but no son. 
Akku, who is married to Wiku. Unni and Vicky are sons in law of Wiku. 
 
Inference: 

 
 
References: 
Unni has one son and one daughter. 
Tinu and Sanu are daughters of Xoxo. 
Vicky has two daughters and one son. 
 
Inference: 

 
 

References: 
Riku is granddaughter of Akku, ... 
Rinku is cousin of Quki and brother of Riku. 
Donu is also the member of this family. 

 
  

And the chart gets done. 
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Answers : 
 

1.  Following the common explanation we can't identify the gender of Wiku, thus we can't determine how 
Wiku is related to Donu. 

 
Hence option D is the correct answer.  

 
 

2.   Following the common explanation we get that Rinku is the only male among all five options and thus 
the odd one out. 
Hence option C is the correct answer. 

  
 

3.  Following the common explanation we get that Xoxo is related to Sanu as her mother. 
Hence option B is the correct answer. 

 
  

4.   Option A: S is sister of Z. Z is  daughter of X. X is father of C. C is son-in-law of B. B is daughter of N. 

 

 
Here S is sister of C. 
 
Option B: S is sister of Z. Z is brother of X. X is father of C. C is son-in-law of B. B is daughter of N. 
 

 
Here S is Aunt of C. 
 
Option C: S is sister of Z. Z is brother of X. X  is  father  of B.  B is son-in-law of C. C is daughter of N. 
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Here S is C’s Son-in-law’s Aunt. 
 

Option D: S is sister of Z. Z is brother of  X. X is  father  of N. N  is  son-in-law of B. B is daughter of C. 
 

 
 
Here S is the aunt of C’s granddaughter’s husband. 
 
Hence, option B is correct. 
 
 

5.  Brief: R is son-in-law of T. T is daughter of Y. Y is brother of I. I is father of P. P is daughter of S. 

 
  

Hence, option B is correct. 
 
 

6. Following the explanation, we get "Cannot be determined" as there are following two possibilities. 
Hence, option E is correct. 
 
Brief Explanation: F is father of W. W is son-in-law of H. H is niece of J. J is brother of E. E is daughter of L.    

 

 
 

 Here L has 3 children 

 

 
 

 Here L has 2 children. 
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Common Explanations : (Q. 7 to 9)  

 
Reference: 
Among the three, one is Virat’s spouse … 
 
Inference: 

 
 

It’s clear from the statement above that Virat is one of the married persons. 
  

Reference: 
… another is Kohli’s sibling. 
Virat’s spouse and Kohli’s sibling are of the same genders. 
.. and the other is Prithvi’s sister’s in law. 
 
Inference: 
Now, if we consider Virat to be sibling of Kohlli then the gender of Virat and Virat's spouse must be same, 
which will violate the given note that people of same gender can't marry each other. 
 
So, the only person left in discussion is Prithvi, so it is Prithvi who must be Kohli’s sibling and Kohlli who must 
be spouse of Virat. 

 
  

The third hint clears the gender of all the three persons as shown below. By now, we got to know that Virat is 
one of the married persons and Kohlli and Prithvi are siblings. We can thus come up with the following 
relationship tree that satisfies all the given conditions. 

 
 
Answers :  

 
7. Following the common explanation, it’s clear that Kohlli is the married man among the three persons. 

Option B is hence the correct answer. 
 
 

8. Following the common explanation, it’s clear that Kohlli and Prithvi are the male members in the 
group. 

 
Option E is hence the correct answer. 
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9. Following the common explanation, it’s clear that Kohlli and Prithvi are the male members in the 
group. 

  
Option E is hence the correct answer. 
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